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Errata

Page xviii – The last sentence of the first paragraph should read, “You discover how EIGRP learns about 

                    new neighbors and how EIGRP operates in NBMA networks.”

Page xxi – The last sentence on the page should read, “And when you succeed in attaining your                         

                  certification, please feel free to e-mail me at hbenjamin@optushome.com.au, so I too can 

                  enjoy your success and joy as well.

Page 4 – Regarding the configuration under Table 1-1 for the reserved addresses for private use as defined 

               by RFC 1918, the second line should read:

               172.16.0.0 – 172.31.255.255

Page 5 – Regarding Figure 1-1, the heading should read, ‘Logical AND Operation’

Page 6 – Regarding Table 1-2, delete the last row of the table that begins with 64…

Page 7 – The first sentence of the first paragraph under the heading, ‘Summarization and How to Configure 

               Summarization’ should read, “Summarization, put simply, enables a given routing protocol to 

              minimize IP routing table entries by taking steps to advertise a smaller or lesser IP route 

              destination for a large set of subnets or networks.

               Regarding Table 1-3, the new table should read as follows:

	IP Subnet

131.108.0.0/24
	Binary Last Third Octet

000000000

	131.108.1.0/24
	0000 0001

	131.108.2.0/24
	0000 0010

	131.108.3.0/24
	0000 0011

	131.108.4.0/24
	0000 0100

	131.108.5.0/24
	0000 0101

	131.108.6.0/24
	0000 0110

	131.108.7.0/24
	0000 0111


Page 9 – Regarding Example 1-1, the command should read:

               interface serial 0

               ip summary-address eigrp 1 131.108.0.0 255.255.248.0

               The last sentence of the third paragraph should read, “The actual summary is 131.108.0.0 

               255.255.248.0, which replaces the seven individual routes numbered 131.108.1-7.0/24 with one  

               simple route.”

Page 11 – Change the paragraph under to heading, ‘Scenario 1-1: Configuring a Cisco Router for IP’ to 

                 read, “In this scenario you see how to configure one Cisco router for IP routing using a network 

                 161.108.1.0. The Class C subnet mask (255.255.255.0 or /24 mask) will be applied to the 

                 interface.”

Page 12 – The heading for Example 1-4 should read, ‘show interfaces Ethernet 0/0’ 

Page 13 – The second and third sentences of the first paragraph should read, "Cisco IOS permit's two 

                 ways to identify if secondary IP addressing is used, the first method is via the configuration  

                 and the second is via the IOS command show ip interface {interface number}. Example 1-7 

                 displays the two methods when R1 is configured with a secondary IP address of 

                 131.108.1.1/24 on interface, Ethernet 0/0.”

                 Add the following display as the second display to Example 1-7:

                 R1#show  ip interface Ethernet0/0

                 Ethernet0/0 is up, line protocol is up

                   Internet address is 161.108.1.1/24

                   Broadcast address is 255.255.255.255 

                   Address determined by setup command

                   MTU is 1500 bytes

                   Helper address is not set

                   Directed broadcast forwarding is disabled

                   Secondary address 131.108.1.1/24 

                   Multicast reserved groups joined: 224.0.0.9

Page 19 – The first two bulleted sentences uses the wrong IP address (they use 141.100.x.x), which should 

                 be changed to: 141.108.x.x (to fit within the Class B Network range)

Page 20 – Regarding Table 1-9, please add the below row as the first row of the table:

                 151.101.100.0.0    255.255.255.0    00000000
Page 21 – Regarding Example 1-9, the fourth line down should read:

                 R1 (config – if) #ip summary-address eigrp 1 151.100.0.0  255.255.248.0

                  Regarding Example 1-10, the second line down should read:

                  R1 (config – router) #no area 1 range 151.100.0.0   255.255.248.0 

Page 22 – The ‘NOTE’ paragraph at the bottom of the page should read, “Remember a helper address can 

                 forward many UDP-based protocols such as DNS and BOOTP requests. You can further restrict 

                 which protocols are sent by using the IOS command [no] ip forward-protocol {udp [port]} or 

                 you can forward a packet based on a particular port number used by a certain application using 

                 the command ip forward-protocol {udp [port]}.”
Page 23 – Regarding Table 1-10, 

· Add entry 171.100.0.0/24 to top line of table

· 171.108.0.0 255.255.255.0 00000000

The last command on the bottom of the page should read:

 ip summary-address eigrp 1 171.100.0.0 255.255.248.0
                The solution should be 171.100.0.0 255.255.248.0 to summarize the class C range of the subnets 

                171.100.1.0-171.100.7.0
Page 24 – Regarding Example 1-12, the fourth and last line of the configuration should read:

                 R1(config-if)#ip summary-address eigrp 1 171.100.0.0 255.255.248.0

Page 25 – Regarding Table 1-11, the third row in the column ‘Command’ should read, ‘router eigrp 

                 autonomous system ID’

Page 28 – The fourth sentence of the third paragraph should read, “No routing algorithm is required on a 

                 single Cisco router (not attached to any other routers) when all networks are directly connected 

                 as described in this example.”

Page 31 – The eighth sentence of the third paragraph should read, “One of the drawbacks of protocols such 

                 as RIP and IGRP is convergence time, which is the speed and ability of internetworking 

                 devices such as a router running a specific routing algorithm protocol (RIP/IGRP) to agree 

                 on a topology change within the network.”

                 Regarding Table 2-2, the sixth row under the column ‘Characteristic’ should read, ‘Hop count 

                 Limit’.

Page 33 – Regarding the ‘NOTE’ paragraph, the sentence should read, “The following three blocks of IP 

                 address space for private networks have been reserved according to RFC 1918:”

Page 45 – The fourth sentence of the last paragraph should read, “Leave the Ethernet segments with a Class 

                 C network to enable 253 hosts to attach to the router.”

Page 47 – Regarding Example 2-24, the last line should read:

                 R1 (config – router)#network 131.108.3.1 area 0”.

Regarding Example 2-25, the last line of the configuration should read: 

R2(config-router)#network 131.108.3.1  0.0.0.0 area 0

Page 51 – Regarding the text between Figure 2-4 and Example 2-30, there are a couple of instances where   

                 it states IGRP administrative domain, when it should be ‘autonomous system’.

Page 53 – The first sentence of the second paragraph under Example 2-34 should read, “R! dynamically 

                 learns the remote networks on R2 through the next hop address of 199.100.3.2 and the outbound 

                 interface Serial 0/1.”

Page 55 – Regarding Example 2-36, the correct configuration should be:

                 Current configuration:

                 !

                 version 12.0

                 hostname R2

                 !

                enable password cisco

                ip subnet-zero

                no ip domain-lookup

                interface Loopback0

                ip address 199.100.7.1 255.255.255.0

                !

                interface Loopback1

                ip address 199.100.8.1 255.255.255.0

                !

                interface Loopback2

                ip address 199.100.9.1 255.255.255.0

                !

                interface Ethernet0/0

                ip address 199.100.2.1 255.255.255.0

                no cdp enable

                !

                interface Serial1/0

                shutdown

                !

                interface Serial1/1

                ip address 199.100.3.2 255.255.255.0

                ip directed-broadcast

                !

                interface Serial1/2

                shutdown

                !

                interface Serial1/3

                shutdown

                !

                router igrp 1

                network 199.100.2.0

                network 199.100.3.0

                network 199.100.7.0

                network 199.100.8.0

                network 199.100.9.0

               !

               no ip classless

               !

               line con 0

               line aux 0

               line vty 0 4

Page 58 – Regarding Example 2-38, the last line of the configuration should read:  


   

                 R2(config-router)#network 199.100.3.0

                 The first sentence of the second paragraph should read, “On R1, you can see three remote    

                 networks learned through the next hop address 199.100.3.2 (R1’s link to R2) and through the 

                 outbound interface Serial 0/1.”

Page 62 –  The title for Scenario 2-4 should read: Routing between Classless and Classful Domains

                 Regarding Figure 2-6, Change the address under ‘OSPF Area 0’ to read: 131.108.8.128/25

Page 63 – Regarding Example 2-48, the heading should read ‘Enabling IGRP on R2’

Page 64 – Regarding Example 2-49, the last line of the configuration should read:

                 R2(config-router)#redistribute ospf  1  metric  128  20000  255  1  1500

Page 65 – Regarding Example 2-51, the third line down should read:

                 C             131.108.8.0/25 is directly connected, Ethernet0/0

                 the fourth line down should read:

               C                 131.108.9.0/27 is directly connected, Loopback2

Page 70 – The third sentence of the first paragraph should read, “Similarly, if a packet arrives for network 

                 131.108.8.0/25, the packet is sent to the directly connected loopback 1 interface.”

                 The third sentence of the second paragraph should read, “To see a real-life scenario using two 

                 routers, refer to Scenario 2-4 and view some of the output from the show and debug commands.”

Page 71 – Regarding Example 2-60, the first line on the top of the page should read:

                 R1#ping 131.108.9.1

Page 75 – The first sentence on the page should read, “If the remote entry is re-advertised as a valid router 

                 after the holddown interval, the network 131.108.10.0/24 will be re-inserted into the IP routing 

                 table.”

                 Please add the following sentences to the fourth paragraph, “The TTL does not stop routing 

                 loops.  It allows a router to remove a packet from a routing loop once the packet has gone over it 

                 many times, but it will do nothing about the existence of the loop, it cannot remove it or route 

                 traffic around it.”

Page 93 – Regarding Example 3-8, add the following line: ip ospf network point-to-point

Page 96 – Regarding Example 3-11, the last address should read:

                 R6(config-router)# network 131.108.26.0  0.0.0.255 area 0

Page 98 – The first sentence of the fifth paragraph should read, “The golden rule in any OSPF network is 

                 that all areas must be contiguous and all areas must be connected to the backbone.” 
                 The third sentence of the fifth paragraph should read, “If an area cannot be connected to the 

                 backbone or is partitioned from the backbone, a virtual link is required.”

Page 100 – The first sentence on the page should read, “You now have the information required to 

                   configure a virtual link between R2 and R6.”

Page 101 – The first paragraph should read, “Router R3 discovers the remote networks from the area 1 

                   through the virtual link between the routers R2 and R6 as demonstrated by the IP routing table 

                   in Example 3-20. 

Page 105 – Regarding the ‘NOTE’ paragraph, the last two bulleted sentences should read:

· R3―141.108.2.1

· R6―141.108.12.1

Page 106 – Regarding Example 3-24 (Continued), the third line should read:

                   Number of interfaces in this area is 5

                   Regarding Table 3-5, the fifth row down should read from left to right:

                   Number of interfaces in this area is 5                       Displays the number of interfaces in area 0.

                                                                                                      R3 has five interfaces in area 0.

                   Regarding Example 3-25, the third line in the column ‘ADV Router’ should read:

                   131.108.5.1

Page 107 – The second to last sentence on this page should read, “In this case, the IP address assigned to 

                   R1 is 131.108.5.1.”

Page 111 – The first sentence of the second paragraph should read, “The DR indicates that the designated 

                   router is the neighbor with the IP address 131.108.6.2, which is Router R2.”

Page 112 – The first sentence of the third paragraph should read, “Changing the default cost from 1 to 90 

                   means that the total cost R2 sees is 100, which is the default cost on an Ethernet interface plus 

                   the 90 you configured.” 
Page 113 – Regarding Figure 3-4, the last three address’ under IP addressing should read:

                   R3 S0   141.108.1.1/29
                   R4 S0   141.108.1.2/29
                   R5 S0   141.108.1.3/29
Page 115 – Regarding Example 3-39, the fourth line of the configuration should read:

                   R4(config-router)#network   141.108.4.0  0.0.0.255 area4

                   Regarding Example 3-40, add the following line to the beginning of the configuration:

                   R5(config-if)#interface Ethernet 0

Page 117 – Regarding Example 3-46, Remove serial1 and the line below it.

Page 119 – Regarding Example 3-48, The second OSPF network command should be replaced with two 

                   commands using 0.0.0.255 masks, to change from the following:

                   router ospf 5

                   network 141.108.1.0 0.0.0.7 area 0

                   network 141.108.4.0 0.0.3.255 area 5

                                                to

                   router ospf 5

                   network 141.108.1.0 0.0.0.7 area 0

                   network 141.108.5.0 0.0.0.255 area 5

                   network 141.108.6.0 0.0.0.255 area 5

                   network 141.108.7.0 0.0.0.255 area 5

Page 122 – Regarding Example 3-53, the second address should read:

                   Chicago (config-router)#no network 131.108.1.0  0.0.0.255  area  0.0.0.0

Page 125 – The second paragraph should read, “The Router SanFran now discovers the remote networks 

                   131.108.7.1/32 and 131.108.6.1/32 through OSPF.”

Page 126 – Regarding Example 3-60, please add the following command after ‘interface Ethernet0/0’:

                   ip ospf hello-interval 10

Page 128 – Regarding Figure 3-6, under ‘Area 1’, the last command should read:

                   Loopback2 131.108.5.1/27   s0/0

Page 129 – The first sentence of the fifth paragraph should read, “You will find that because the areas are 

                   not contiguous, you actually do need two virtual links to endure full connectivity in any 

                   network failure situation.”

Page 140 – The last sentence of the fourth paragraph should read, “For areas not connected to the 

                   backbone directly or through a virtual link, no routing information flows to the backbone; 

                   therefore, you do not have IP connectivity.”

Page 141 – The second sentence of the ‘NOTE’ section should read, “Remember that all areas must be 

                   connected to the backbone logically or you must use a virtual link.”

Page 144 – The first sentence of the ‘NOTE’ section should read, “A stub area cannot be a transit area for 

                   a virtual link.”

Page 145 – The fourth item of the first bulleted list should read:

                   Attached router interface
Page 148 – The fourth sentence of the first paragraph should read, “In brief, IS-IS was designed to provide 

                   two routing mechanisms (in competition with OSPF forum, which could only route IP) at the 

                   same time: one for IP and another for ISO CLNS.”

Page 151 – The second sentence of the second paragraph should read, “Area 11 is not connected to the  

                   backbone and hence required a virtual link so that all OSPF routers have a routing entry for the 

                   subnet 131.108.131.0/24.”

Page 152 – The first sentence of the third paragraph should read, “To configure a virtual link, use the IOS 

                   command area transit area virtual-link router-id.”

Page 162 – The last sentence of the second paragraph should read, “A total of 31 networks (contiguous) 

                   exist from 131.108.1.0 to 131.108.31.0.”

Page 163 – Regarding Example 4-18, the correct display is as follows:

 Codes: C - connected, O - OSPF, IA - OSPF inter area 

       N1 - OSPF NSSA external type 1, N2 - OSPF NSSA external type 2

       E1 - OSPF external type 1, E2 - OSPF external type 2, E - EGP

     131.108.0.0/16 is variably subnetted, 41 subnets, 2 masks

O       131.108.255.16/30 [110/983] via 131.108.255.9, 04:14:50, Serial0

O       131.108.255.20/30 [110/983] via 131.108.255.9, 04:14:50, Serial0

O       131.108.255.0/30 [110/128] via 131.108.255.9, 04:14:51, Serial0

O IA    131.108.255.4/30 [110/919] via 131.108.255.9, 04:14:51, Serial0

C       131.108.255.8/30 is directly connected, Serial0

O       131.108.255.12/30 [110/128] via 131.108.255.9, 04:14:51, Serial0

O IA    131.108.131.0/24 [110/993] via 131.108.255.9, 04:05:58, Serial0

O       131.108.130.0/24 [110/138] via 131.108.255.9, 04:14:51, Serial0

O IA    131.108.129.0/24 [110/993] via 131.108.255.9, 04:14:51, Serial0

C       131.108.128.0/24 is directly connected, Ethernet0

O IA    131.108.15.0/24 [110/129] via 131.108.255.9, 03:51:04, Serial0

O IA    131.108.14.0/24 [110/129] via 131.108.255.9, 03:51:04, Serial0

O IA    131.108.13.0/24 [110/129] via 131.108.255.9, 03:51:14, Serial0

O IA    131.108.12.0/24 [110/129] via 131.108.255.9, 03:51:14, Serial0

O IA    131.108.11.0/24 [110/129] via 131.108.255.9, 03:51:14, Serial0

O IA    131.108.10.0/24 [110/129] via 131.108.255.9, 03:51:14, Serial0

O IA    131.108.9.0/24 [110/129] via 131.108.255.9, 03:51:15, Serial0

O IA    131.108.8.0/24 [110/129] via 131.108.255.9, 03:51:25, Serial0

O IA    131.108.7.0/24 [110/129] via 131.108.255.9, 03:51:25, Serial0

O IA    131.108.6.0/24 [110/129] via 131.108.255.9, 03:51:25, Serial0

O IA    131.108.5.0/24 [110/129] via 131.108.255.9, 03:51:25, Serial0

O IA    131.108.4.0/24 [110/129] via 131.108.255.9, 03:51:25, Serial0

O IA    131.108.3.0/24 [110/129] via 131.108.255.9, 03:51:25, Serial0

O IA    131.108.2.0/24 [110/129] via 131.108.255.9, 03:51:35, Serial0

O IA    131.108.1.0/24 [110/138] via 131.108.255.9, 04:14:52, Serial0

O IA    131.108.31.0/24 [110/139] via 131.108.255.9, 04:14:52, Serial0

O IA    131.108.30.0/24 [110/139] via 131.108.255.9, 04:14:52, Serial0

O IA    131.108.29.0/24 [110/139] via 131.108.255.9, 04:14:52, Serial0

O IA    131.108.28.0/24 [110/139] via 131.108.255.9, 04:14:52, Serial0

O IA    131.108.27.0/24 [110/139] via 131.108.255.9, 04:14:52, Serial0

O IA    131.108.26.0/24 [110/139] via 131.108.255.9, 04:14:52, Serial0

O IA    131.108.25.0/24 [110/139] via 131.108.255.9, 04:14:53, Serial0

O IA    131.108.24.0/24 [110/139] via 131.108.255.9, 04:14:53, Serial0

O IA    131.108.23.0/24 [110/139] via 131.108.255.9, 04:14:53, Serial0

O IA    131.108.22.0/24 [110/139] via 131.108.255.9, 04:14:53, Serial0

O IA    131.108.21.0/24 [110/139] via 131.108.255.9, 04:14:53, Serial0

O IA    131.108.20.0/24 [110/139] via 131.108.255.9, 04:14:53, Serial0

O IA    131.108.19.0/24 [110/139] via 131.108.255.9, 04:14:53, Serial0

O IA    131.108.18.0/24 [110/139] via 131.108.255.9, 04:14:53, Serial0

O IA    131.108.17.0/24 [110/139] via 131.108.255.9, 04:14:53, Serial0

O IA    131.108.16.0/24 [110/139] via 131.108.255.9, 04:14:53, Serial0

O       131.108.36.0/24 [110/11] via 131.108.255.9, 04:14:53, Serial0

Page 164 – The last sentence of the first paragraph should read, “Example 4-19 displays the use of the IOS 

     area area ID range network mask command on R3.”

     Regarding Example 4-20, the last line of the command should read:

     R4(config-router)#area  0  range  131.108.0.0 255.255.224.0

     The last sentence of the last paragraph should read, “Also displayed in Example 4-21 area a 

     few ping requests to IP networks covered in the summary range 131.108.0.0/19, which are the 

     networks covering the range 131.108.0.0 to 131.108.31.0.”

Page 164-165 – Regarding Example 4-21, Routes for 131.108.255.16/30, 131.108.255.20/30 and 

                          131.108.129.0/24 should be area internal (O) routes instead of inter-area (O IA) routes.

Page 167 – Regarding Example 4-26, Routes for 131.108.255.16/30, 131.108.255.20/30 and 

                   131.108.129.0/24 should be area internal (O) routes instead of inter-area (O IA) routes.

Page 169 – Change the ‘NOTE’ section on the page to read, “The configuration here in Example 4-30 only 

                  displays the OSPF routing configuration because the remaining configuration is identical to that 

                  in Examples 4-10 to 4-176.”

Page 171- Regarding Figure 4-6, the second and third address for WAN Addressing should read:                                   

                 R4-R8 141.108.255.4/30

                 R8-R9 141.108.255.8/30

                 The first sentence under Figure 4-6 should read, “Where this chapter covers redistribution, you 

                 use these routers to connect to an OSPF router.”

Page 172 – Regarding the second bulleted list, the first bullet should read, “Enable IS-IS with the command 

                   router isis optional area tag.  The tag groups routers in one domain.”

                   Regarding Example 4-36, clns routing in not required.  Remove line

Page 179 – Regarding Figure 4-7, label R8 link to R4 with S0.

Page 181 – The third paragraph should read, “Three options are available when you are redistributing from 

                   OSPF to IS-IS: L1, L2, and L1/L2.”

Page 184 – Regarding the ‘NOTE’ section, the sentence should read, “The keyword subnets is required 

                   here because 141.108.0.0 is subnetted using a Class C subnet mask, which is required 

                   whenever redistribution is configured to a classless domain and a 30-bit mask on serial 

                   connections.”

Page 189 – Regarding Figure 4-8, Router Mel’s S1 interface should be labeled S0.

                   The second and third line of the ‘WAN Addressing’ commands at the bottom left of the page 

                   should read:

                   Simon-Mel 141.108.255.4/30

                   Mel-SanFran 141.108.255.8/30
Page 190 – The first sentence of the first paragraph should read, “The router named Simon is configured in 

                   the OSPF area 0 (backbone) and the RIP domain and needs to run redistribution between 

                   OSPF and RIP.”

                   The last sentence of the last paragraph, which continues onto page 191 should read, “Because 

                   RIPv1 is classful and the subnet 141.108.1.0/24 is configured locally, all interfaces in this Class 

                   B network (141.108.0.0) are assumed to be Class C.”

Page 193 – Regarding Example 4-63, change the word ‘shutdown’ to ‘description link to ISP’.

Page 198 – Regarding Table 5-1, under the heading ‘Term’, the seventh row down should read, ‘Smooth 

                   Round Trip Time (SRTT)

Page 199 – Regarding Figure 5-1, the address under the R2’s loopbacks should read: 131.108.2.1/24 to 

                   131.108.15.1/24

Page 200 – The first sentence of the last paragraph should read, “R2 has a number of loopbacks to populate 

                   the IP routing tables ranging from 131.108.2.0/24 to 131.108.15.0/24.”

Page 202 – The last sentence of the first paragraph should read, “Because the algorithm is calculated almost 

                   instantaneously, in order, and with a  finite time, updates are sent and received quickly, which 

                   decreases convergence time.”

Page 207 – The fifth paragraph should read, “To manually summarize networks, you must advertise the 

                   supernet, for example, on an interface level with the ip summary-address eigrp AS network 

                  mask command.”

                   The first sentence of the last paragraph should read, “Re-examine Figure 5-1 and summarize 

                   the networks 131.108.8.0 to 131.108.15.0.”

Page 208 – The first paragraph should read, “Because the networks 131.108.8.0-131.108.15.0 are 

                   contiguous, you can apply the mask 255.255.248.0 to incorporate the range of networks from 

                   131.108.8.0-131.108.15.0.”

Page 211 – The fourth paragraph should read, “Two neighbors are formed with R1, namely R2 

                   (131.108.1.2) and R3 (131.108.255.2).”

Page 220 – Regarding Example 5-26, remove IOS code under Interface Serial3. 

Page 223 – Regarding Figure 5-3, change the first network under the column ‘R2’s connected Networks’ to 

                   read: 131.108.255.4/20

Page 224 – The first paragraph should read, “The networks ranging from 131.108.1.0 to 131.108.31.0 

                   reside on two routers; in other words, 31 subnets or IP routing entries populate the routing 

                   tables in AS 1 and AS 2.”

Page 225 – The first sentence of the first paragraph should read, R3 has 31 separate network entries for the 

                   ranges 131.108.1.0 to 131.108.31.0.” 

                   Regarding Example 5-32, the last command should be ‘ip summary-address eigrp 1 131.108.0.0 

                   255.255.240.0.0’

Page 227 – Regarding Example 5-34, the last command should be ‘ip summary-address eigrp 1 131108.0.0 

                   255.255.240.0’

Page 230 – The last sentence of the first paragraph should read, “Both routers reside in AS 1 and are 

                   connected to only the network 131.108.0.0, so the EIGRP configuration is the same on R1 and 

                   R2.”

Page 231 – The first sentence of the paragraph under Example 5-43 should read, “R2 also has two remote 

                   EIGRP routes: one pointing to the remote network 131.108.1.16/30 (the serial link between R1 

                   and R3) and the entire Class A network 10.0.0.0 through R4.”

Page 232 – Regarding Example 5-48, the third line should read:

                   D       10.1.1.0/25  [90/20537600]  via 131.108.1.18,  00:01:29,  Serial0/0

Page 233 – Regarding Example 5-49, the third line should read:

                   D       10.1.1.0/25  [90/20537600]  via 131.108.1.1,  00:02:00,  Ethernet0/0

Page 236 – Regarding Figure 5-5, the loopbacks on the diagram for R1 and R2 do not exist in the scenario, 

                   so the two statements as described, including the ip address ranges listed under R1 and R2 need 

                   to be removed.

Page 244 – Regarding Example 5-67, the configuration under interface Serial0 should look like this:

     hostname R4

     !

     enable password cisco

     ip subnet-zero

     no ip domain-lookup

     interface Ethernet0

     ip address 131.108.2.130 255.255.255.128

     interface Serial0

     vandwidth 128

     ip address of 131.108.255.6 255.255.255.252

     interface Serial1

     shutdown

     ! 

           The rest of the configuration is the same.

Page 249 – Regarding Figure 5-6, the bottom shaded oval entitled ‘RIP Domain’, the WAN address should 

                   read: 131.108.255.0/24

Page 250 – The third paragraph should read, “For summarization, you can provide a summary in E
IGRP 

                   AS 1 covering the networks 171.109.1.0-171.109.3.0 with the command:”

Page 252 – The last paragraph should read, “Example 5-79 displays the detailed paths to the three remote 

                   networks, 171.109.1.0/24, 171.109.2.0/24 and 171.109.3.0/24 as seen by the router SanFran 

                   along with a successful ping to the remote networks.”

Page 259 – Regarding Table 6-1, the last sentence of the sixth row, under the heading ‘Description’ should 

                   read, “The weight value is between 0-65535.”

Page 261 – Regarding Example 6-1, the last command should read:

                   R1(config-router)#neighbor  131.108.1.2 remote-as 
Page 263 – The first sentence under Example 6-7 should read, “R2’s local router is 171.109.3.1, and it 

                   learns the remote loopbacks on R1 through the next hop address 131.108.1.1, or R1’s Ethernet 

                   interface.”

Page 264 – The last sentence of the fourth paragraph should read, “The AS path on R3 indicates that the 

                   remote networks, 131.108.2.0/24 to 131.108.4.0/24, transverse autonomous system number 1, 

                   as displayed in the BGP table in Example 6-11.”

Page 265 – The third sentence of the second paragraph should read, “Ensure that the loopback addresses in 

                   R1 (131.108.2.0/24- 131.108.4.0/24) and R2 (131.108.5.0- 131.108.7.0) are reachable from R3 

                   and R4.”

Page 271 – Regarding Example 6-25, the third command should read:

                   R4 (config – router) #neighbor 131.108.255.9 remote-as 3

Page 274 – The second sentence of the second paragraph should read, “Start by analyzing why the remote 

                   network 131.108.1.0 has a dual path and why the next hop address 131.108.255.5, or the link to 

                  R1, is preferred as the path through R4.”

Page 276 – Regarding Example 6-32, add the following command under the ‘router bgp 1’ configuration:

                   network 131.108.1.0 mask 255.255.255.0 

Page 277 – Regarding Example 6-33, the configuration should read:

          hostname R2

          !

          enable password cisco

          !

          no ip domain-lookup

          interface Loopback0

          ip address 131.108.5.1 255.255.255.0

          interface Loopback1

          ip address 131.108.6.1 255.255.255.0

          !

          interface Loopback2

          ip address 131.108.7.1 255.255.255.0

          !

          interface Ethernet0/0

          ip address 131.108.1.2 255.255.255.0

          !

          interface Serial1/0

          ip address 131.108.255.1 255.255.255.252
          clockrate 128000

          !

                   The rest of the configuration remains the same.

Page 278-279 – Regarding Example 6-35, the configuration should read:

           hostname R4

           !

           enable password cisco

           no ip domain-lookup

           interface Ethernet0

           ip address 151.108.1.1 255.255.255.0

           interface Serial0

           !

           interface Serial3

           ip address 131.108.255.9 255.255.255.252

           !

           router bgp 2

           network 151.108.1.0 mask 255.255.255.0

           neighbor 131.108.255.1 remote-as 1

           neighbor 131.108.255.9 remote-as 3

           !

           line con 0

           line aux 0

           line vty 0 4

           end

Page 279 – Regarding Figure 6-3, the Ethernet interface on R1 and R2 should be labeled E0/0 and the 

                   router labeled R2 where the arrow points to should be labeled with E0/0

Page 287 – The last sentence of the page should read, “This example assigns a route map called default.”

                   Regarding Example 6-52, the last address should read:

                   R1(config-if)#ip policy route-map default

Page 288 – The last sentence on the page should read, “Example 6-55 displays an extended ping using the 

                   source address 131.108.1.1 (R1’s Ethernet interface) to the remote network 161.108.1.0/24.”

Page 295- Regarding Example 6-63, remove the fourth line of this configuration.

Page 296 – Remove bracketed statement from the third paragraph.

                 Regarding Example 6-64, add the following line to the end of the configuration:

                 R1 (config) #access-list 1 permit any

Page 298 – Regarding Example 6-69, the ip address for interface Serial 1/1 should read:

                   ip address 141.199.1.2  255.255.255.252

                   Add the following command under ‘router bgp 1’:

                   network 131.108.1.0 mask 255.255.255.0

                   Under ‘access-list 1 permit any’, add line code:

                   Access-list 2 permit any 

Page 299 – Regarding Example 6-70, the ip address for interface Serial 1/1 should read:

                   ip address 151.100.1.2  255.255.255.252

                   Add the following command under ‘router bgp 1’:

                   network 131.108.1.0 mask 255.255.255.0

Page 300 – Regarding Example 6-71, remove code from ‘no ip classless’ to match ip address 2

Page 307 – Regarding Figure 6-6, the Ethernet interfaces on R1 and R2 should be labeled E0/0 instead of 

                   E/0.

                   Regarding Figure 6-6, the loopback range in the lower left should read:

                   131.108.100.0/24-131.108.116.0/24

Page 321 – The second sentence of the second paragraph should read, “Also, notice that the Class B 

                   address 131.108.0.0 is used throughout this network.”

Page 328 – Regarding Figure 7-4, please label router above R4 and below R2 as R5.

Page 344 – The last sentence of the first paragraph should read, “The bgp always-compare-med command, 

                   allows the MED values to be compared, an BGP decisions are even though the two routers, 

                  ISP1 and ISP2, are in different autonomous systems.”

Page 347-348 – Regarding Example 7-47, the route-map command should name the route-map noexport.”

Page 351-352 – Regarding Example 7-52, the new command should read:

hostname R2

!

enable password cisco

!

ip subnet-zero

no ip domain-lookup

interface Loopback0

 ip address 131.108.254.2 255.255.255.255

 no ip directed-broadcast

!

interface Ethernet0/0

 ip address 131.108.1.2 255.255.255.0

!

interface Serial1/3

 ip address 160.100.1.2 255.255.255.252

 clockrate 128000

!

router ospf 1

 network 0.0.0.0 255.255.255.255 area 0

!

router bgp 333

 no synchronization

 bgp always-compare-med

 network 131.108.1.0 mask 255.255.255.0

 neighbor 131.108.254.1 remote-as 333

 neighbor 131.108.254.1 update-source Loopback0

 neighbor 131.108.254.3 remote-as 333

 neighbor 131.108.254.3 update-source Loopback0

 neighbor 131.108.254.3 route-reflector-client

 neighbor 131.108.254.4 remote-as 333

 neighbor 131.108.254.4 update-source Loopback0

 neighbor 131.108.254.4 route-reflector-client

 neighbor 131.108.254.5 remote-as 333

 neighbor 131.108.254.5 update-source Loopback0

 neighbor 131.108.254.5 route-reflector-client

 neighbor 160.100.1.1 remote-as 4000

 neighbor 160.100.1.1 send-community

 neighbor 160.100.1.1 route-map aspath in

 neighbor 160.100.1.1 route-map setcommuntiy out

 neighbor 160.100.1.1 filter-list 1 in

 distance bgp 20 109 109

!

access-list 1 permit 0.0.0.0

route-map setcommunity permit 10

 set community no-export

!

route-map aspath permit 10

 set as-path prepend 4000 3999 3998

!

line con 0

line aux 0

line vty 0 4

Page 354 – Regarding Example 7-53, the new command should read:

ip route 1.0.0.0 255.0.0.0 Null0

ip route 2.0.0.0 255.0.0.0 Null0

ip route 3.0.0.0 255.0.0.0 Null0

ip route 4.0.0.0 255.0.0.0 Null0

ip route 5.0.0.0 255.0.0.0 Null0

ip route 6.0.0.0 255.0.0.0 Null0

ip route 7.0.0.0 255.0.0.0 Null0

ip route 8.0.0.0 255.0.0.0 Null0

ip route 10.0.0.0 255.0.0.0 Null0

ip route 11.0.0.0 255.0.0.0 Null0

ip route 100.0.0.0 255.0.0.0 Null0

ip route 101.0.0.0 255.0.0.0 Null0

ip route 102.0.0.0 255.0.0.0 Null0

ip route 141.100.0.0 255.255.0.0 Null0

ip route 142.100.0.0 255.255.0.0 Null0

ip route 143.100.0.0 255.255.0.0 Null0

ip route 144.100.0.0 255.255.0.0 Null0

ip route 145.100.0.0 255.255.0.0 Null0

ip route 146.100.0.0 255.255.0.0 Null0

ip route 147.100.0.0 255.255.0.0 Null0

ip route 148.100.0.0 255.255.0.0 Null0

ip route 149.100.0.0 255.255.0.0 Null0

ip route 150.100.1.0 255.255.255.0 Null0

ip route 141.108.0.0 255.255.0.0 Null0

ip route 141.108.0.0 255.255.0.0 null0

ip route 150.100.1.0 255.255.255.0 Null0 

ip route 0.0.0.0 0.0.0.0 null0

                 The six sentence of the last paragraph should read, “The origin AS is 50001, with the path 

                 through 998 999.”

Page 357 – The second sentence of the bulleted list should read, “Allow any routes in the range 1.0.0.0-

     11.0.0.0, but not 10.0.0.0/8.”

Page 358 – Regarding Example 7-58, please delete the commands:

                   ip prefix-list ccnp permit 45.0.0.0/8

                   no ip prefix-list ccnp permit 45.0.0.0/8

Page 360 – Regarding Example 7-60, 0.0.0.0 should have an AS path of 50001 400 300 200 I

Page 368 – The first sentence of the fourth paragraph should read, “Ensure that the 15 loopbacks on R1 

                   (131.108.2.0/24-131.108.16.0/24) are advertised to R5 and that R5 modifies all even networks 

                   with a local weight to 1000 and metric (MED) to 100.”

Page 371 – Regarding Example 7-68, remove the third line from the configuration:

                   neighbour 171.108.1.2 next-hop-self

Page 380 – The first paragraph should read, “Table 8-1 shows that a Cisco router always prefers an EIGRP 

                   route (AD is 90) over an OSPF  (AD is 110) or RIP (AD is 120), for example.” 

Page 382 – Regarding Table 8-2, the second sentence of the first paragraph under the column 

                   ‘Description’ should read, “It can be one of the following keywords: bgp, connected, egp, 

                   eigrp, igrp, isis, mobile, ospf, static [ip], or rip.”

Page 385 – Regarding Figure 8-2, change the heading for the left shaded oval to ‘IGRP Domain 10’.

Page 386 – The second paragraph should read, “R1 is configured for RIP and IGRP, and hence, requires 

                   redistribution, and you must ensure the metrics are converted from RIP (hop count) to IGRP 

                   (composite metric).”

Page 389 – The first sentence of the fourth paragraph should read, “R3 does not advertise the 10.0.0.0/24 

                   network to R1.”

                   The last sentence of the last paragraph should read, “Example 8-13 displays a ping request to 

                   the IP address 10.1.1.1 (R2’s Ethernet interface) and 10.1.2.1 (R3’s loopback interface).”

Page 394 – Regarding Figure 8-3, the address’ for Local IP Addressing should read:

                   R1 141.108.1 to 141.108.7.255/24
                   R2 141.108.8.1 to 141.15.255/24
                   R3 141.108.16.1 to 141.108.23.255/24

Page 398 – The first sentence of the second paragraph should read, “Example 8-25 configures R1 for OSPF 

                   across the WAN to R2 and R3.”

Page 400 – Regarding Example 8-30, the second to last command should read:

                   R3 (config) #access-list 1 deny 141.108.16.0  0.0.7.255

Page 399 –The third sentence of the last paragraph should read, “Without this keyword, only classful 

                  networks would be advertised.”

Page 403 – Regarding Figure 8-4, the last address for Local IP Addressing should read:

                   R3 ranges from 141.108.16.1/24 to 141.108.23.1/24

Page 404 – Regarding Example 8-37, the first network command should read:

                   R3 (config-router) #network 141.108.16.0  0.0.7.255 area 3

Page 406 – The last paragraph should read, “Example 8-41 displays the summarization required on R2 to 

                   encompass the networks 141.108.8.0-141.108.15.0 (These networks reside in area 2).

Page 407 – The first paragraph should read, “Example 8-42 displays the summarization required on R3 to 

                   encompass the networks 141.108.8.0-141.108.15.0 (These networks reside in area 3).

Page 416 – The first sentence of the first paragraph should read, “R2 is configured to redistribute OSPF 

                   networks with a route map named allowintoeigrp, indicating that only networks matching 

                   access list 1 are allowed in EIGRP.”

Page 417 – The second paragraph should read, “Example 8-60 displays the IP routing table (0SPF routes 

                   only) on R1 and some sample pings to the remote EIGRP networks 160.100.1.1/25 and 

                   160.100.128.1/25.”

Page 418 – The first paragraph should read, “Full connectivity is displayed on R4, and notice that the 

                   shaded routes in Example 8-61 encompass all the routes from 141.108.0.0-141.108.7.0.  (These 

                   routes are the loopback interfaces on R1.)

Page 423 – Regarding Example 8-67, the new command should read:

hostname R2

!

enable password cisco

!

ip subnet-zero

no ip domain-lookup

!

interface Serial1/0

 bandwidth 128

 ip address 141.108.255.2 255.255.255.252

 no ip mroute-cache

!

interface Serial1/1

 ip address 141.108.255.17 255.255.255.252

!

router eigrp 2

 redistribute ospf 1 metric 1500 2000 255 1 1500 route-map allowintoeigrp

 passive-interface Serial1/0

 network 141.108.0.0

 no auto-summary

!

router ospf 1

 summary-address 141.108.0.0 255.255.248.0

 redistribute eigrp 2 metric 100 subnets route-map allowintoospf

 network 141.108.255.2 0.0.0.0 area 0

access-list 1 deny   160.100.0.0 0.0.255.255

access-list 1 permit any

access-list 2 deny   141.108.0.0 0.0.7.255

access-list 2 deny   141.108.255.0 0.0.0.3

access-list 2 deny   141.108.255.4 0.0.0.3

access-list 2 permit any

route-map allowintoeigrp permit 10

 match ip address 1

!

route-map allowintoospf permit 10

 match ip address 2

!

end

Page 427 – Regarding Figure 8-6, 

· Change (Classful) to (Classless) for the OSPF domain

· Change (Classless) to (Classful) for the RIP domain

· R1 and R2’s Ethernet interfaces should be labeled E0/0

The second paragraph should read, “This scenario uses static routes to ensure connectivity between the classful (RIP) domain to the classless (OSPF) domain.”

Page 428 – Regarding Example 8-71, the command ‘pass’ is not a complete command and should be 

                   removed.

Page 435 – Regarding Example 8-86, please remove the second to last command:

                   Access-list 1 deny   160.100.0.0  0.0.255.255 

Page 436 – Regarding Figure 8-7, 

· Under Local IP Addressing: in the upper left, R1 should be 141.108.0-7/24; R2 should be 141.108.8-15/24; R3 should be 141.108.16-23/24 

· R1’s Ethernet interface should be labeled E0/0 

· R1’s Ethernet segment should be labeled 141.108.0-7/24 

· R3’s Ethernet segment should be labeled 141.108.16-23/24 

· R2’s Ethernet interface should be labeled E0/0 

Page 440 – Regarding Example 8-89,  the 37th line down should read:

                   Redistribute ospf 1 metric 128 20000 255 1 1500

Page 450 – Regarding Figure 9-1, R1’s Ethernet interface should be labeled, ‘E0/0 VLAN 1000

Page 451 – The first sentence under the heading ‘IP Address Configuration (0.5 Hours)’ should read, “Use 

                   the Class B IP address 133.33.0.0.”

Page 453 – The first paragraph under the heading ‘Loopback IP Addressing: Part II (0.25 Hours) should 

                   read, “Create eight loopback interfaces in R1 by using 24-bit network masks in major networks 

                   ranging from 133.33.16.0/24-133.33.23.0/24.”

                   The second paragraph under the heading ‘Loopback IP Addressing: Part II (0.25 Hours) should 

                   read, “Create eight loopback interfaces in R2 by using 24-bit network masks in major networks 

                   ranging from 133.33.24.0/24 to 133.33.31.0/24.”

Pages 463-465 – Regarding Example 9-4, The serial 0 interface and serial 2 should have the ‘ip ospf 

                           message-digest-key ccnp’ command.

Page 515 – Regarding Question #1, the first answer bullet (bold bullet) should be, “Subnet 131.108.1.0 and 

                   broadcast address 131.108.1.255

                   Regarding Question #2, the answer should read, “Using the formula 2n-2 = 29-2 = 510 hosts, the 

                   subnet mask 255.255.254.0 borrows nine (or n) bits from the subnet mask.”

                   Regarding Question #3, the answer should read, “The broadcast address is 131.45.1.255 where 

                   255 represents all binary 1s.”

Page 516 – Regarding Question #5, the answer should read, The decimal equivalent is 255.255.0.0, or a 

                   Class B mask.”

                   Regarding Question #10, the second and third answer bullet should read, respectively:

· Class B: 172.16.0.0-172.31.255.255

· Class C: 192.168.1.0-192.168.255.255

Page 518 – Regarding Question #5, the question should read, “Why is the remote network 141.108.6.1/32 

                   displayed ass learned through the denotation: O IA?”

                   Regarding Question #1, the first sentence of the answer should read, “The IP route labeled as 

                   S* means that any IP packet designated for a remote destination not specifically listed in the IP 

                   routing table is to be sent to the next hop address of 141.108.1.4 (router Simon).”

Page 519 – Regarding Question #6, the second sentence of the answer should read, “Configure the 

                   command ip ospf name-lookup in global configuration mode to allow OSPF to assign a name 

                   to an IP address.”

                   Regarding Example 4-66 of Question #6, the title should read, ‘Command on Simon’

Page 520 – Regarding Question #8, the first sentence of the answer should read, “Reducing the size of 

                   areas leads to a reduction of SPF calculations and, in turn, reduces the topology table.”

                   The paragraph under the heading ‘Chapter 5’ should read, “Example 5-79 displays the detailed 

                   paths to the three remote networks, 171.109.1.0/24, 171.109.2.0/24, and 171.109.3.0/24, as 

                   seen by the router SanFran along with a successful ping to the remote networks.”

Page 521 – Regarding Question #1, the second sentence of the answer should read, “In binary, 252 is 1111 

                   1100.”

Page 522 – Regarding Question #1, remove the period at the end of the answer, so it should read: 

                   clear ip bgp*

Page 523 – Regarding Question #2, remove the period at the end of the answer, so it should read:

                   Router bgp as

Page 524 – Regarding Question #8, the first sentence of the answer should read, “Higher weight values are 

                   preferred, and the range of values for weight is 0-65535.”

Page 525 – Regarding, Question #8, the path through the network does not include AS 2000.  It should be 

                  100 300.  Remove 2000.

Page 526 – Regarding the command configuration of Question #9,  remove the line that reads:

                   R5 (config-route-map) #set local

Page 527 – Regarding Questions # 8 & 9, please switch the answers for the questions so that the answer for 

                   question #8 is really the answer for question #9 and vice versa.

